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Ans.
Sol.

Ans.
Sol.

Ans.
Sol.

Ans.
Sol.

Ans.

Select the
number

alternatives.
Quarter : Half : : Single : ?

related word/letters/
from the given

A. Multiple B. Double

C. Set D. Group

B

Since half is the two times of
quarter similarly double is two
times of single.

Select the related word/letters/
number from the given
alternatives.

Ball : Sun : : Cigarette : ?

A. Pipe B. Smoke

C. White D. Fire

A

Since ball has the shape of sun
(sphere) similarly cigarette has
shape of pipe (cylindrical).

Select the related word/letters/
number from the given
alternatives.

Allot : Alot::?

A. Already: All ready

B. Sea : See

C. Than : Then
D. Peace : Piece
A

All+ lot = allot (one | is missing
after combining together)
All+ready = already (one | is
missing after combining together)
Select the related word/letters/
number from the given
alternatives.

HFDB : GEC : : YWUS : ?

A. XVT B. TVX
C. RTVX D. XVTR
A

Since H -8, F—»6 ,G —»7 , E comes
after D, C comes after B.

Similarly Y—25, W23 so 24
comes between 23 & 25 hence X
would be the first letter,and V
comes after U and T comes after S.
Hence A would be exact answer.
Select the related word/letters/
number from the given
alternatives.

Grace : Career : : Sitar : ?

A. Saris B. Artist
C. Stair D. Star
B

Sol.

Ans.
Sol.

Ans.
Sol.

Ans.
Sol.

Ans.
Sol.

10.

Ans.
Sol.

Since Grace (smoothness and
elegance of movement) related to
career (continue growth), similarly
artist related to sitar because no
other option have similar meaning.
since artist plays sitar.

Select the related word/letters/
number from the given alternatives.

Destine : Inertia : : Bison : ?
A. Sonnets B. Sonar

C. Cosine D. Brine

B

Since Destine and inertia are the
meaning of fixation

Similarly Bison is related to Sonar.
Select the related word/letters/
number from the given
alternatives.

99:18::77:7?

A. 16 B. 20
C. 12 D. 14
D

Since 9*2 =18, 9*11 = 99, so the
required ans be 14 as 11*7 =

77,7%2 =14
Select the related word/letters/
number from the given

alternatives.
586 :364 ::824:7

A. 520 B. 740
C. 442 D. 602
D

Since 5 -2 =3

8-2=6

6-2 =4

So 8-2 =6

2-2=0

4-2 =2

Hence D would be appropriate
answer.
Select the
number
alternatives.
224 : 112 ::326:7?

related word/letters/
from the given

A. 189 B. 146

C. 163 D. 176

C

112*%2 = 224

163*2 = 326

Select the odd word/letters/
number/word pair/number pair
from the given alternatives

A. Cheek B. Toe

C. Ear D. Nostril

B

Expect B, all others are upper body
parts.
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11.

Ans.

Sol.

12.

Ans.
Sol.

13.

Ans.
Sol.

14.

Ans.
Sol.

15.

Ans.
Sol.

16.

Ans.

Select the odd word/letters/
number/word pair/number pair
from the given alternatives.

A. Socks and Shoes

B. Bow and Tie

C. Vest and Shirt

D. Shirt and Coat

B

Since every pair, except bow and
tie, is used one over another

But in case of bow and tie one use
only bow or only tie.

Select the odd word/letters/
number/word pair/number pair
from the given alternatives.

A. Wood and Chair

B. Cotton and Pillow

C. Cotton and Wool

D. Fur and Pillow

A

Expect A, all others options
contains soft material, but wood
and chair is hard material.

Select the odd word/letters/
number/word pair/number pair
from the given alternatives.

A. RF B. AH

C.IM D. OT

A

Expect option A ,there is one vowel
in every option.

Select the odd word/letters/
number/word pair/number pair
from the given alternatives.

A. Busted B. Blasted

C. Disaster D. Caste

A

Expect option A all others have
(aste) comman letters.but in word
busted it does not have a as a
common letter.

Select the odd word/letters/
number/word pair/number pair
from the given alternatives.

A. ABB B. EFF
C. OPP D. HII
D

Expect option D all others have
only one vowel but in option D
there are two vowels.
Select the odd

number/word  pair/number
from the given alternatives.

word/letters/
pair

A. 428 B. 802
C. 640 D. 537
D

Sol.

17.

Ans.
Sol.

18.

Ans.
Sol.

19.

Ans.
Sol.

20.

Ans.

Expect D all others are even
numbers, but 537 is a odd number.

Select the odd word/letters/
number/word pair/number pair
from the given alternatives.

A. 81 B. 72

C. 44 D. 63

C

Expect option C all others are
multiple of 9.

Select the odd word/letters/
number/word pair/number pair
from the given alternatives.

A. 136, 17 B. 152, 19

C. 160, 20 D. 148, 18

D

Expect option D, all others are

multiple of second number.

17*%8 = 136
19*8=152
20*8 = 160

But 148 is not the multiple of 18.
In the given series one word/one
term/one number is missing.
Select the correct alternative from
the given ones that will complete
the series.

DDRFTG, CVVBHT, DCEERT,
DCFRRT, ?

A. REDCVT B. DEEDCR

C. SDDAEW D. SDERWW

D

In this series all the words have six
letters.

DDRFTG = 1%t and 2"letters are
same.

CVVBHT = 2" and 3™ letters are
same.

DCEERT = 3™ and 4% letters are
same.

DCFRRT = 4% and 5% letters are
same.

Hence SDERWW = 5% and 6% letter
are same.

Hence option would be appropriate
answer.

In the given series one word/one
term/one number is missing.
Select the correct alternative from
the given ones that will complete
the series.

Super, Erratic, Icebox, Oxen, ?

A. Lollipop B. Popcorn
C. Papyrus D. Envelop
D
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Sol.

21,

Ans.
Sol.

22,

Ans.
Sol.

23.

Ans.
Sol.

In this series, the first two letter of
next word consists the last two
letters of previous one.

So envelop would be the
appropriate answer.

In the given series one word/one
term/one number is missing.
Select the correct alternative from
the given ones that will complete
the series.

run, anon, clasp, rotted, ?

A. confuses B. accolade

C. revamp D. scoured

D

run has 3 letters, anon has 4

letters, clasp has 5 letters, rotted

has 6 letters so the next word
would be of 7 letters that is
scoured.

In the given series one word/one
term/one number is missing.
Select the correct alternative from
the given ones that will complete
the series.

Y,U Q,M,?

A.J B. K
C.L D.1I
D

U——» Y (+3)

Q—— U [+3)

Q———»M (+3)

M———» | (+3) (Required)

Hence D would be appropriate
answer.

In the given series one word/one
term/one number is missing.
Select the correct alternative from
the given ones that will complete
the series.

kpu, jot, ins, hmr, ?

A. ghg B. fns
C. fop D. glq
D

kpu, jot, ins, hmr, glqg

Since j comes before k, i comes
before j,h comes before i, similarly
g comes before h.

Since o comes before p, n comes
before 0, m comes before n,
similarly | comes before m.

No other option is following this
pattern so D would be appropriate
answer.

24,

Ans.
Sol.

25.

Ans.
Sol.

26.

Ans.
Sol.

27.

Ans.
Sol.

In the given series one word/one
term/one number is missing.
Select the correct alternative from
the given ones that will complete
the series.

XXXX0OX0, XXXOXOX, XXOXOXX,
XOXOXXX, ?

A. XOXOXXX B. XXXXOXO

C. XXXOX0OX D. OXOXXXX

D

XXXX0OX0, XXXOXOX, XXOXOXX,
XOXOXXX, OXOXXXX (series is
moving towards left hand side)

In the given series one word/one
term/one number is missing.
Select the correct alternative from
the given ones that will complete
the series.
-7,-3,7?,8,15
A1l B.
C.3 D.
B

-7+4=-3
-3+5=2

2+6 =8

8+ 7 =15

Hence B would be appropriate
answer.

In the given series one word/one
term/one number is missing.
Select the correct alternative from
the given ones that will complete
the series.

2,1.25,7,-1/4, -1

2
5

A. -1/2 B. 1/2
C. -0.75 D. 0.75
B

2-0.75 = 1.25
1.25-0.75 = 0.5 or§

0.5 - 0.75 = -0.25 or -i

-0.25-0.75=-1

In the given series one word/one
term/one number is missing.
Select the correct alternative from
the given ones that will complete
the series.

13, 7,19, 23, 29

A. 14 B. 15

C. 16 D. 17

D

13+4=17

17+2=19

19+5=23

23+6=29
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28.

Ans.
Sol.

29.

Ans.
Sol.

30.

Ans.
Sol.
31.

Ans.
Sol.

32.

Ans.

Ifm>1, m< nandn < o, which
of the following must be true?
I.LI<o

II.n > |

A. Only I

B. Both I and II
C. Only II

D. Neither I nor II
B

AT.Q.

l<m<n<o

Then | < o and

l<norn>|

The weights of five boxes are 20,
30, 40, 70 & 90 kilograms. Which
of the following cannot be the total

weight, in kilograms, of any
combination of these boxes?

A. 180 B. 190

C. 200 D. 170

D

in option A, 180 = 90+70+20

In B 190 = 90+70+30

In C 200 = 90+70+40

But we cannot combine any weight
that make a total weight of 170 kg.
If the letters E, D, X, S, P & O are
numbered 1, 2, 3, 4, 5 & 6
respectively. Select that
combination of numbers so that
letters arranged accordingly, form
a meaningful word.

A. 3532143 B. 1356412
C. 6121341 D. 4321242
B

Exposed = 1356412

If DISCERNS is coded as
WRHXVIMH, then how will AGO be
coded as?

A. TGB B. BGT
C. DFG D. ZTL
D
D | 5 C E R N S
4 a 19 3 5 18 14 19
274 279 2718 273 275 27-18 27-14 27-19
W R H X v I M H
Similarly A G 0

27-1 277 27-15

z T L

In a certain code language, 639
means 'wood is hard', 657 means
'fur is soft', 135 means 'hard or
soft'. Find the code for 'or'.

A. 4 B.1
C.6 D. 3
B

Latest Sarkari Jobs, Govt Exam Results,
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Sol.

33.

Ans.
Sol.

34.

Ans.
Sol.

35.

Ans.
Sol.

36.

Ans.
Sol.

ATQ

6 =is

3 = hard

5 = soft

Then 1 = or.

In a certain code

language, '+'
represents 'x', '-' represents '+', 'x'
represents '+' and '+' represents
'-'. Find out the answer to the
following question.

0.0625 + 800-234x6 =7

A 11 B. 89
C.1.25 D. 66
B

0.0625 x 800 + 234 -+ 6 = 50 +
39 = 89

In If A @ B means A is father of B,
A # B means A is brother of B and
A ! B means A is son of B, then
whatdoesL# M @ N ! O mean?

A. M is husband of O

B. N is uncle of L

C. L is brother of O

D. L is father of O

A

L# M = Lis brother of M

M @ N = M is father of N

N!O = Nissonof O

It means L is uncle of N and

M is husband of O.

If 62#51 = 0, 82#54 = 5 then find
the value of 72#66 = ?

A7 B. 10
C. 12 D.5
D

62#51=(6-5)-(2-1)=(1) -
(1H)=0

82#54 =(8-5)-(2-4)=(3) -
(-2)=5

Similarly

72#66 =(7-6)-(2-6)=(1) -
(- 4) =5.

Which of the following words
follows the trend of the given list?
Visual, Avarice, Savour, Salvage,
Saliva, ?

A. Drive B. Reweave
C. Eleven D. Envelop
B

The position of letter ‘v’ is in
increasing order

So in the 6t word there must be
6t position of ‘v’

That is Reweave.

Know More
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37.

Ans.
Sol.

38.

Ans.
Sol.

39.

Ans.

Which of the following terms follow
the trend of the given list?
FEEFEE, EFEEFE, EEFEEF, ?

A. FFEEFF B. EFEFEEF
C. FEEFEE D. FEFFEE
C

By succession every letter change
its position by +1

So after the last term there should
be FEEFEE.

A postman cycles 4 km West, then
turns South and cycles 7 km, then
turns East and cycles 4 km, then
turns to his left and cycles 10 km.
Where is he now with reference to
his starting position?

A. 17 km North from the starting
position

B. 3 km North from the starting
position

C. 3 km South from the starting
position

D. 17 km South from the starting
position

B

Postman cycles towards west for
4 km

Then turns to south and cycle for
7 km

then turns East and cycles 4 km
and covers the distance cycled for
west.

then turns to his left and cycles
10 km and cross the starting point
by 3 km towards north.

Two persons A and B start from
the same point. A walks 4 m North,
then turns to his right and walks
3m. At the same time, B has
walked 9 m East, then he turned to
his left and walked 4 m. Where is B
now with respect to the position of
A?

A. B is 6 m to the East of A

B. Bis 12 m to the East of A

C. Bis 6 m to the West of A

D. Bis 12 m to the West of A
A

Sol.

40.

Ans.
Sol.

41.

Latest Sarkari Jobs, Govt Exam Results,
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3 km

AT

4 km 6 km 4 km

® .1r o

9 km

In the question two statements are
given, followed by two conclusions,
I and II. You have to consider the
statements to be true even if it
seems to be at variance from
commonly known facts. You have
to decide which of the given
conclusions, if any, follows from
the given statements.

Statement 1: Some villagers are
poor.
Statement 2
people.
Conclusion I: Some nice people are
villagers.

Conclusion II: No villagers are nice
people.

A. Only conclusion I follows

B. Only conclusion II follows

C. Either I nor II follows

D. Neither I nor II follows

A

Some Vvillagers are poor and all
poor are nice people, it means
some villagers are nice people

or we can say that some nice
people are villagers.

In the question a statement is
given, followed by two arguments,
I and II. You have to consider the
statement to be true even if it
seems to be at variance from
commonly known facts. You have
to decide which of the given

All poor are nice

arguments, if any, is a strong
argument.

Statement: Should local train
tickets be subsidized?

Argument I No, In an
environment where locals trains
are overcrowded, subsidy will
worsen the situation.

Argument II: Yes, Local trains

reduce number of vehicles on the
road, thus reducing pollution,
reduce costs and travel time.

Know More
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Ans.
Sol.

42.

A. if neither argument I nor II is
strong

B. if only argument II is strong.

C. if only argument I is strong.

D. If both argument I and II are
strong

D

In the environment where local
trains are overcrowded, a large
number of people are WT and
subsidy will worsen the situation
And again Local trains reduce
number of vehicles on the road,
thus reducing pollution, reduce
costs and travel time; it is good to
the view of environment.

So both arguments are strong.
Which of the following cube in the
answer figure cannot be made
based on the unfolded cube in the
question figure?

.'.°OA

Ans. A

Sol.

43.

.'.’OA
_|_

According to given figure :-: Must
be in the opposite direction of O.
Which of the following answer
figure patterns can be combined to
make the question figure?

Ans.
Sol.

44,

Ans.
Sol.

45,

£ 6
i FF
H &
G g8

¥
Hhh
HH

n

Which of the following diagrams
represent the relationship between
Chinese, Indians and Asians?

/ P
A N B. \& Y
C ' D. |
B

Asian

Asian, Chinese, Indian

In the following figure, square
represents hockey players, triangle
represents cricket players, circle
represents kabaddi players and
rectangle represents football
players. Which set of Iletters
represents hockey players who do
not play football and cricket
players who play kabaddi?

© @

i Q
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Ans.
Sol.

46.

Ans.
Sol.

47.

O+U+P
Which answer figure will complete
the pattern in the question figure?

Option C would be appropiate
answer.

From the given answer figures,
select the one in which the
question figure is
hidden/embedded

Ans. A

Sol.

48.

Ans.
Sol.

49,

Ans.
Sol.

50.

A piece of paper is folded and
punched as shown below in the
question figures. From the given
answer figures, indicate how it will
appear when opened.

A. B.
C. D. | ©
C

Option C would be appropiate
answer

If a mirror is placed on the line MN,
then which of the answer figures is
the right image of the given figure?

M

A. B
C D.
D

N

D will be the appropriate answer.

A word is represented by only one
set of numbers as given in any one
of the alternatives. The sets of
numbers given in the alternatives
are represented by two classes of
alphabets as shown in the given
two matrices. The columns and
rows of Matrix-I are numbered

Latest Sarkari Jobs, Govt Exam Results, m
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Ans.
Sol.

51.

Ans.
Sol.

from 0 to 4 and that of Matrix-II
are numbered from 5 to 9. a letter
from these matrices can be
represented first by its row and
next by its column, for example ‘Z’
can be represented by 20, 23 etc
and ‘A’ can be represented by 65,

57 etc. Similarly, you have to
identify the set for the word
“TOWER".
MATRIX -1
HIETE - |
0 1 2 3 a
o[ x| r|N|s|T
1 |y lu|lw]|RrR|a
2 F 4 T P i s
1 W o T P W
L] T W Y T Y
MATRIX -1l
g -
5 L] T E 9
s K E A F G
6 lalnw]sle]o
7T le|lGlcim]e®F
sli|Bs]lGclc]
9 Im]lsJuLla]L
A. 23, 95, 14, 20, 79
B. 40, 31, 41, 68, 01
C. 11, 41, 44, 85, 22
D. 21, 40, 04, 69, 01
B
T =40, 21
0=31
W = 30, 41
E = 56, 68
R =01, 13
So TOWER = 40, 31, 41, 68, 01.
The set is the

collection of all bundles that the

consumers can buy with their
income at the prevailing market
prices.

A. demand B. utility

C. indifference D. budget

D

The Budget set is the collection of
all bundles that the consumers can
buy with their income at the
prevailing market prices, when a
person, company or government
estimates their yearly income and
expenditure in the upcoming
financial year it calls budget.

Latest Sarkari Jobs, Govt Exam Results,
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52.

Ans.
Sol.

53.

Ans.
Sol.

54.

Ans.

Economists define unemployed
person as one who is not able to
get even 1 hour of work in

A. one month

B. one week

C. one day

D. half a day

D

According to economists when a
person is not able to get even 1
hour of work in half a day it calls
unemployment. When a person
does not have a job it calls
unemployment it results to lose
their wages and country loses the
goods and services that could have
been produced when the
purchasing power of that person is
lost, it leads to unemployment of
other workers

If C = Consumption, I =
Investment, G = Government
spending, Ex = exports &Im =

Imports, then GDP =
A.G+C+1I-(Ex-Im)
B.G+C+ 1+ (Ex-1Im)
C.G+C-I1+(Ex-1Im)
D.G+C+ Ex-(I+1Im)

B

G+C+1+ (Ex-Im)

The value of total goods and
services produced in a year for a
given country is called gross
domestic product. it contains four
main components government
spending on items that are
"consumed" in the current period
(G), consumption(C), Investment
(I), Net imports subtracting a
nations imports (Im) from exports
(Ex).

According to economists when a
person is not able to get even
1 hour of work in half a day it
calls unemployment.

Price of an article decreases from
Rs 40 to Rs 30 when quantity
demanded increases from 1000
units to Q2 units. If point elasticity
of demand is -0.8, then what is the
value of Q2?

A. 900 B. 800
C. 1200 D. 1100
C

Know More
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Sol.

55.

Ans.
Sol.

56.

Ans.
Sol.

Original quantity = 1000 units,
new quantity Q2 =?, AQ = Q2 -
1000

Original price (P) = 40, New Price
(P1) = 30, AP = -10, ED (elasticity
of demand) = -0.8

Price ED (elasticity of demand) =
AQ P Q2 - 1000 40

—X—= — =-0.8

AP Qq (-10) 1000
After solving we get Q2 = 1200
Monotonicity of preferences implies

that the indifference curve is

sloping.

A. Diagonal B. Horizontal
C. Downward D. Upward
C

Monotonicity of preferences implies

that the indifference curve is
downward sloping.

Monotonicity implies more s
better. Monotone preferences
essentially say that "more" is

preferred to "less".
If there are two bundles x and y.

Y = y1,Y2.. Yn.

Monotonicity would imply xRy if
X1>Y1,X2>Y2.iiinenns Xn>Yn

H =Xy

Good3

Goodl

Which of the following writs is
issued when the court finds that a
particular office holder is not doing
legal duty and thereby is infringing
on the rights of an individual?

A. Mandamus

B. Habeas corpus

C. Prohibition

D. Quo Warranto

A

A Mandamusis issued when the
court finds that a particular office
holder is not doing legal duty and
thereby is infringing on the rights
of an individual.

Anything that is issued under an
authority is a writ, Orders,
warrants, directions etc. issued
under authority are examples of
writs.

57.

An
So

58.

An
So

59.

Vacancies and updates on one click

In India, both Supreme Court and
High Court have been empowered
with Writ Jurisdiction A judicial writ
issued as a command to an inferior
court or ordering a person to
perform a public or statutory duty
called mandamus.

A few days before Independence,
the Maharaja of ,
Bodhachandra Singh, signed the
Instrument of Accession with the
Indian government.

A. Baroda B. Manipur

C. Mewar D. Bhopal

s. B

. A few days before Independence,
the Maharaja of Manipur,
Bodhachandra Singh, signed the
Instrument of Accession with the
Indian government.

It was once independent princely
state which was taken over by
british in 1891.After India gained
independence from British rule in
1947, India's first Home Minister,
Sardar Vallabhai Patel, set about
the task of integrating more than
500 princely states that existed in
the Indian subcontinent with the
newly formed Indian union. This
process of integrating the princely
states took place over a period of
time. Manipur was one such state
which merged with India on 21
September 1949.

In the Indian Constitution, the idea
of Residual Powers has been
borrowed from the

Constitution.
A. French

C. Russian
s. B

. The Constitution of
several features
borrowed from that of other
countries. We have borrowed
following features from Canada.

1. Scheme of federation with a
strong centre

2. Distribution of powers between
centre and the states and placing.
Residuary Powers with the centre
Article 42 of the Indian
Constitution "Provision for justice
and humane conditions of work
and maternity relief" deals with?

B. Canadian
D. British

India
which are

has

Latest Sarkari Jobs, Govt Exam Results
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Ans.
Sol.

60.

Ans.
Sol.

61.

Ans.
Sol.

A. the Union Government

B. the State Government

C. the fundamental rights of the
Indian Citizen

D. the directive principles of state
policy

D

According to Article 42 of
Constitution of India - Provision for
just and humane conditions of

work and maternity relief The
State shall make provision for
securing just and humane
conditions of work and for

maternity relief.

Which commission suggested that
jobs in the Central Government
should be reserved for the 'Other
Backward Classes' (OBC)?

A. Mandal B. Nanavati

C. Kelkar D. Kothari

A

The Mandal Commissionwas

established in India on 1 January
1979 by the Janata Party
government under Prime Minister
Morarji Desai with a mandate to
"identify the socially or
educationally backward classes" of
India. It suggested that jobs in the
Central Government should be
reserved for the 'Other Backward
Classes' (OBC).

With reference to the 1857 revolt
consider the following statements.
1) The sepoys of Meerut appealed
to Bahadur Shah Zafar to accept
the leadership of the revolt.

2) In Kanpur, the sepoys made
Nana Sahib as their leader.

3) In Awadh, Rani Laxmibai was
made the leader.

Which of the given statements
is/are correct?

A. 1 only

B. 1 and 2 only

C. 2 and 3 only

D.1,2and 3

B

The Great Revolt of 1857 (also
Indian rebellion of 1857, the Great
uprising of 1857, the Great
rebellion, Indian Sepoy mutiny) is
regarded as India’s First War of
Independence against the British
rule. So it has been commonly
termed as "Sepoy Mutiny'.
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Ans.
Sol.

63.

Ans.
Sol.

64.

Ans.
Sol.

According to question statement
one and two are true. Laxmi bai
was made leader of Jhansi. She
lost her life in the battleground.
One of the most important
descriptions of the city of

in the fifteenth century comes from
Abdur Razzaq Samargandi.

A. Vijayanagara

B. Harappa

C. Ayodhya

D. Hampi

A

Kamal-ud-Din Abd-ur-Razzaq ibn
Ishag Samargandiwas a Persian,
he visited Calicutin western India
in the early 1440s as a
ambassador and wrote a 45-page
narrative of this mission to
India.His One of the most
important descriptions of the city
of Vijayanagara, describing their
wealth and immense grandeur.
Charles Cornwallis was the
Governor General of

when the Permanent Settlement
was introduced there in 1793.

A. Bihar B. Madras

C. Punjab D. Bengal

D

Charles Cornwallis was the

Governor General of Bengal when
the Permanent Settlement was
introduced there in 1793.
In 1790, the Court of Directors
issued a ten-year (decennial)
settlement to the zamindars, which
was made permanent in 1793. By
the Permanent SettlementAct of
1793, their power of keeping the
armed forces were taken back.
They remained just the tax
collectors of the land.

The French Revolution, a period
that brought far-reaching social
and political upheaval in France,

began in .
A. 1689 B. 1789
C. 1889 D. 1989
B

The French Revolution, was a
period of far-reaching social and
political upheaval in France that
lasted from 1789 until 1799, and
was partially carried forward by
Napoleon bonapart during the later
expansion of the French Empire.
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Ans.
Sol.

66.

Ans.
Sol.

67.

Ans.

When did the epidemic of Black
Death (a type of Plague) spread in
entire Europe?

A. 1748 B. 1548
C. 1348 D. 1148
C

the epidemic of Black Death (a
type of Plague) spread in entire
Europel348.

The Black Death was one of the
most devastating pandemics in
human history, resulting in the
deaths of an estimated 75 to 200
million people in Eurasia and
peaking in Europe from 1346 to
1353.the bacterium Yersinia pestis,
resulting in several forms of
plague, is believed to have been
the cause.

With reference to an earthquake
consider the following statements.
1) The point where the energy of
an earthquake is released is called
the hypocentre.

2) The point on the surface,
nearest to the focus of the
earthquake, is called epicentre.

3) Epicentre is a point directly
below the focus of an earthquake.
Which of the statements given
above is / are corrrect?

A. 1 only

B. 2 only

C. 1 and 2 only

D. 2 and 3 only

C

Epicentre- the point on the earth's
surface vertically above the focus
of an earthquake.

Hypocentre- The hypocenter is
the point within the earth where an
earthquake rupture starts. The
epicenter is the point directly
above it at the surface of the
Earth. Also commonly termed the
focus.

So in the given statements, third
one is completely false.

Which of the following places in
India has off shore petroleum
reserves?

A. Cochin High

B. Madras High

C. Mumbai High

D. Goa High

C
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Sol.

68.

Ans.

Sol.

69.

Ans.
Sol.

70.

Ans.
Sol.

71.

Ans.
Sol.

Mumbai High is an offshore
oilfield 176 kilometres off the coast
of Mumbaiin about 75 m of water.
The oil operations are run by
India's Oil and Natural Gas
Corporation (ONGC).

The earth's radius is approximately

A. 6,070 km . B. 6,170 km
C. 6,270 km D. 6,370 km
D

Earth radius is the approximate
distance from Earth's center to its
surface, about 6,371 km.

Which of the following indian rivers
discharges its waters in the
Arabian Sea?

A. Kaveri B. Tapi
C. Mahanadi D. Brahmaputra
B

The Tapti River (or Tapi) is a river
in central India between the
Godavari and Narmada rivers.
It flows westwards over a length of
724 km before draining through
the Gulf of Khambhat into the
Arabian Sea. It flows through
Surat.

The Khardung La pass is associated
with which mountain range?

A. PirPanjal B. Ladakh
C. Banihal D. Zaskar
B

Khardung La pass is a mountain
pass in the Ladakh region of the
Indian state of Jammu and
Kashmir.The pass on the Ladakh
Range lies north of Leh and is the
gateway to the Shyok and
Nubravalleys.it was built in 1976
and opened for public in 1978.
Which of the following has a
Fusiform root?

A. Carrot

B. Radish

C. Beet root

D. Potato

B

The radish (Raphanus
raphanistrum) is an edible root
vegetableof the Brassicaceae
family that was domesticated in
Europe.it has fusiform root,this
root is widest in the middle and
tapers towards the top and the
bottom.
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Ans.

Sol.

73.

Ans.

Sol.

74.

Ans.

Sol.

75.

Double fertilization is a complex
fertilization mechanism of

A. Gymnosperms
B. Monocots

C. Angiosperms
D. Bryophytes

C
Double fertilization is a complex
fertilization mechanism of

Angiosperms.

Angiosperms are seed-bearing
vascular plants. Their reproductive
structures are flowers in which the
ovules are enclosed in an ovary.
The angiosperms are vascular seed
plants in which the ovule (egg) is
fertilized and develops into a seed
in an enclosed hollow ovary.

The nuclear membrane is absent in
the cells of organisms belonging to
which kingdom?

A. Monera B. Protista

C. Fungi D. Plantae

A

Monera is a kingdom that
contained unicellular organisms

with a prokaryotic cell organization
(having no nuclear membrane),
such as bacteria. They are single-
celled organisms with no true
nuclear membrane (prokaryotic
organisms).

are composed of
long, fibrous proteins as filaments
that slide past each other when a
muscle contracts or relaxes.

A. Myofibril

B. Sarcomeres

C. Cross bridges

D. Z band

B

Sarcomeres are composed of long,
fibrous proteins as filaments that
slide past each other when a
muscle contracts or relaxes.
Two of the important proteins are
myosin, which forms the thick
filament, and actin, which forms
the thin filament.

Which of the following is the first
stage of mitosis?

A. Prophase B. Metaphase

C. Anaphase D. Telophase
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Ans.
Sol.

76.

Ans.

Sol.

77.

Ans.

Sol.

78.

Ans.

A

Prophase is the first stage of
mitosis.

In cell biology, mitosis is a part of
the cell cycle when replicated
chromosomes are separated into
two new nuclei. The process of
mitosis is divided into stages
corresponding to the completion of
one set of activities and the start
of the next. These stages are

prophase, prometaphase,
metaphase, anaphase, and
telophase.

The scientific and objective study
of animal behaviour is called
A. Ethology B. Entomology

C. Ecology D. Euthenics

A

Ethology is the scientific and
objective study of animal

behaviour, usually with a focus on
behaviour under natural
conditions, and viewing behaviour
as an evolutionarily adaptive trait.
Read the pairs given below-

Size of Object or distance : Length
(in m)

1) Size of a proton : 10°1°

2) Length of a typical virus : 1078
3) Distance of Sun from Earth : 10°
4) Thickness of a paper : 10!

A. 1 and 2 only

B. 2 and 3 only

C. 3 and 4 only

D.1,2and3

A

Size of a proton : 10°%°

Length of a typical virus : 108
Distance of Sun from Earth :
384,400,00,0 m

Thickness of a paper :10% m
Hence only 15t and 2" are true.
Which of the following is the
correct formula for magnification
while using a concave mirror?

A. -(Image distance)/(Object
distance)

B. -(Object distance)/(Image
distance)

C. (Image distance)/(Object
distance)

D. (Object distance)/(Image
distance)

A
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Sol.

79.

Ans.
Sol.

80.

Ans.
Sol.

The correct formula for
magnification  while using a

. . (Image distance)
concave mirror Is =————
(Object distance)

Magnification is the process of
enlarging the appearance, not
physical size, of something. This
enlargement is quantified by a
calculated number also called
"magnification". When this number
is less than one, it refers to a
reduction in size, sometimes called
"minification" or "de-
magnification".

A thermodynamic process during
which the volume of the closed
system in consideration remains
constant is called

A. Isochoric process

B. Isobaric process

C. Adiabatic process

D. Isothermal process

A

An isochoric process, also called a
constant-volume process, an
isovolumetric  process, or an
isometric process, is a
thermodynamic process during
which the volume of the closed
system undergoing such a process
remains constant.

Which of the following is the
correct order of electromagnetic
radiation arranged in order of
increasing frequency?

A. Microwaves < Visible light
<X-Rays< Long Radio Waves

B. X-Rays< Microwaves < Visible
light < Long Radio Waves

C. Long Radio Waves <

Microwaves < Visible light <X-Rays
D. Long Radio Waves <X-Rays<
Visible light < Microwaves

C

Long Radio Waves < Microwaves <
Visible light <X-Rays

Light is a form of electromagnetic
radiation. Other forms of
electromagnetic radiation include
radio waves, microwaves, infrared
radiation, ultraviolet rays, X-rays,
and gamma rays. All of these,
known collectively as the
electromagnetic  spectrum, are
fundamentally similar in that they
move at 300,000 km per second,
the speed of light. The only

81.

Ans.

Sol.

82.

Ans.
Sol.

83.

Ans.
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difference between them is their
wavelength, which is directly
related to the amount of energy
the waves carry. The shorter the
wavelength of the radiation, the
higher the energy.

Which of the following is, "A device
used to connect two separate
Ethernet networks into one
extended Ethernet."?

A. Bridge

B. Router

C. Repeater

D. Modem

A

A network bridge is a computer
networking device that creates a
single aggregate network from
multiple communication networks
or network segments. This function
is called network bridging. It is
used to connect two separate
Ethernet networks into one
extended Ethernet.

is a language
for the specification of procedures
for the retrieval (and sometimes
also modification) of information
from a database.

A. High Level Language

B. SQL

C. Query Language

D. 4GL

C

Query Languageis a language for
the specification of procedures for
the retrieval (and sometimes also
modification) of information from a
database. It refers to any
computer programming language
that requests and retrieves data
from database and information
systems by sending queries.

Read the pairs given below

Name : Formula

1) Acetone : CH2OHCHOHCH20H

2) Ethanal : CH3CHO

3) Formaldehyde : HCHO

4) Glycerol : CH3COCH3

Which of the above pairs are
correctly matched?

A. 2 and 3 only

B. 1 and 4 only

C. 2, 3 and 4 only

D.1,2,3and 4
A
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Sol.
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Ans.
Sol.

85.

Ans.
Sol.

86.

Ans.
Sol.

Acetone - CsHsOor CH3-CO-CHs or
CH3COCHs

Ethanal : CH3CHO

Formaldehyde : HCHO

Glycerol : C3H803

Hence 2&3 are correctly matched.
What is the IUPAC name of
tert-Butyl bromide?

A. 2-Bromo-3-methylpropane

B. 2-Bromo-2-methylpropane

C. 2-Bromo-3-methylbutane

D. 2-Bromo-2-methylbutane

B

Br

H3C (|‘: CHB

CH;

tert-Butyl bromide is an organic
compound with a tert-butyl carbon
frame and a bromine substituent.
Its chemical name is
2-Bromo-2-methylpropane.
Francium is highly radioactive; its
longest-lived isotope??3Fr has a
half-life of only
A. 2.1 seconds
B. 21 seconds
C. 2.1 minutes
D. 21 minutes
D

Francium is highly radioactive; its
longest-lived isotope??3Fr has a
half-life of only 21 minutes.
There are 34 known isotopes of
francium ranging in atomic mass
from 199 to 232. Francium-223
and francium-221 are the only
isotopes that occur in nature,
though the former is far more
common.

Which of the following elements
has the highest atomic number?

A. Rubidium  B. Caesium

C. Potassium D. Francium

D

Francium is a chemical element
with  symbol Fr and atomic
number87 (the highest atomic
number). It used to be known as
eka-caesium and actinium K. As an
alkali metal, it has one valence
electron.
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Ans.
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88.

Ans.
Sol.

89.

Ans.
Sol.

Which of the following statements
is true?

A. In a cyclonic pressure system in
the northern hemisphere, winds
blow in anticlockwise direction.

B. In a cyclonic pressure system in
the northern hemisphere, winds
blow in clockwise direction.

C. In a cyclonic pressure system,
pressure at the centre is high.

D. In an anti-cyclonic pressure
system in the southern
hemisphere, winds blow in
clockwise direction.

A

In a cyclonic pressure system in
the northern hemisphere, winds
blow in anticlockwise direction.
There is one phenomenon to move

the winds anti-clock-wise/clock-
wise in the northern
hemisphere/southern hemisphere

around the low pressure system
and vice-versa around high
pressure. That is convergence
&divergence of the wind.

is the rigid top layer of the
earth.
A. Atmosphere
B. Hydrosphere
C. Biosphere
D. Lithosphere
D
Lithosphereis the rigid top layer of
the earth.
Earth's lithosphere includes the
crust and the uppermost mantle,
which constitute the hard and rigid
outer layer of the Earth.
Thelithosphere is subdivided into
tectonic plates.
While testing pollution in water a
high coliform count indicates high
levels of
A. pesticides
B. fertilizers
C. biological oxygen demand
D. faecal matter
D
While testing pollution in water a
high coliform count indicates high
levels offaecal matter.

Indicator bacteria are types of
bacteria used to detect and
estimate the level of fecal

contamination of water.
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Ans.
Sol.

91.

Ans.

Sol.

92.

Ans.
Sol.

93.

Ans.
Sol.

94.

Ans.

Which of the following gases
present in the earth's atmosphere
absorbs ultraviolet radiation
emitted from the sun?

A. Ozone B. Carbon Dioxide
C. Hydrogen D. Nitrogen

A

Ozone (03),is a pale blue gas with
a distinctively pungentsmell,0Ozone
is formed from dioxygen by the
action of ultraviolet light and also
atmospheric electrical discharges,
and is present in very low
concentrations  throughout the
Earth's atmosphere (stratosphere).
It absorbs ultraviolet radiation
emitted from the sun.

What is India's National Fruit?

A. Apple B. Banana

C. Guava D. Mango

D

India’s national fruit is mango,

which is a rich source of vitamin A,
CandD.

Donald Trump is the
President of USA.

A. 15% B. 25t
C. 35t D. 45t
D

Donald John Trump is the 45th and
current President of the United
States, in office since January 20,
2017.

Who invented the Video Game
Console?

A. Ralph H. Baer

B. Laszlo Biro

C. Alfred Binet

D. Hans Berger

A
Ralph Henry Baer was a German-
born American inventor, game

developer, and engineer, and was
known as "the Father of Video
Games" due to his many
contributions to games and the
video game industry in the latter
half of the 20th century.

Who discovered the neutron and
its properties?

A. Nikola Tesla

B. James Chadwick

C. Albert Einstein

D. Ernest Rutherford

B
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Ans.
Sol.

96.

Ans.
Sol.

97.

Ans.
Sol.

98.

Ans.

James Chadwick discovered the
neutron and its properties in 1932.
James Chadwickwas awarded in
1935 Nobel Prize in Physicsfor his
discovery.

Whom did Roger Federer beat in
Australian Open 2017 Men's
Singles Final?

A. Andy Murray

B. Rafael Nadal

C. Novak Djokovic

D. Stan Wawrinka

B

Rafael Nadal was beaten by roger
federer in Australian Open 2017
Men's Singles Final.

The 2017 Australian Open Men's
Singles final was the championship
tennis match of the Men's Singles
tournament at the 2017 Australian
Open. It was contested between
Roger Federer of Switzerland and
Rafael Nadal of Spain.
BhupenKhakkar was a renowned

B. Musician

A. Dancer
C. Painter D. Poet
C

BhupenKhakkar was a renowned
Painter.

Bhupen Khakhar was a self-trained
artist, and started his career as a
painter relatively late in his life. His
paintings often contained learned
references to Indian mythologyand
mythological themes.

The Lotus Temple is located in
Delhi, India. It is composed of how
many free-standing marble-clad

"petals"?

A. 24 B. 21
C. 27 D. 18
C

The Lotus Temple is located in
Delhi, India, It is composed of 27
free-standing marble-clad "petals"
it is a Bahai House of Worship that
was dedicated in December 1986,
having been completed for a total
cost $10 million.

Onam is a traditional Hindu festival
celebrated in

A. Andhra Pradesh

B. Kerala

C. Tamil Nadu

D. Karnataka

B
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Ans.
Sol.

Onam is an annual Hindu festival
with origins in the state of Kerala
in India in August-September.

The festival commemorates the
Vamana avatar of Vishnu, the
subsequent homecoming of the
legendary Emperor Mahabaliand
mythologies of Hinduism related to
Kashyapa and Parashurama.

Oliver Hart won Nobel Prize in
2016 for his contribution in the
field of

A. Literature

B. Economic Sciences

C. Physics

D. Chemistry

B

Oliver Hart won Nobel Prize in
2016 for his contribution in the
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Ans.
Sol.

field of Economic  Sciences.
Oliver Hart is currently the Andrew
E. Furer Professor of Economics at
Harvard University, where he has
taught since 1993.

"The Great Gatsby" has
authored by
A. Dante Alighieri

B. Mark Twain

C. F. Scott Fitzgerald

D. Leo Tolstoy

C

The Great Gatsby is a 1925
novelwritten by American author F.
Scott Fitzgeraldthat follows a cast
of characters living in the fictional
town of West Egg on prosperous
Long Island in the summer of
1922.

been
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